Quiz 3                                                                                                                        Sec: 03

Name:                                                                         ID#:                                          S.No.
1. A lot contains 15 castings from a local supplier and 25castings from a supplier in the next state. Two castings are selected randomly, without replacement, from the lot of 40.

Let A be the event that the first casting selected is from the local supplier, and let B denote the event that the second casting is selected from the local supplier. Determine:

(a) P(A)                (b) P(B\A)                    (c) 
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2. A batch of 500 containers for frozen orange juice contains 10 that are defective. Three containers are selected, at random, without replacement, from the batch.

(a) What is the probability that the third one selected is defective?

(b) What is the probability that the third one selected is defective given that the first one selected was defective and the second one selected was okay?

(c) What is the probability that all three are defective?
3. Customers are used to evaluate preliminary product designs. In the past, 95% of highly successful products received good reviews, 60% of moderately successful products

received good reviews, and 10% of poor products received good reviews. In addition, 40% of products have been highly successful, 35% have been moderately successful, and 25% have been poor products.

a. What is the probability that a product attains a good review?
b. If a product attains a good review, what is the probability that it will be a highly successful product?
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